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Jgmc.and Covalent Bonding 7 ‘ W \hﬁame: ) #7 I
zether an atom combines with another atom depends on the number of electrons in its outermost shell or orbit,
<se electrons are known as valence electrons. Some elements do not combine or react to other elements because

 their energy shells contain the maximum number of electrons that they can hold. Thus, they do not need (o gain,
“ose or share electrons to become stable. For this reason it is-important to identify the number of valenice efectrons
7 an atom of an element to understand its ability to combine-with other elements to make compounds.

"¢ bond below creates N=Cl (sodium chloride) which is table salt. -

Nz- Sodium Cl — Chlorine Na- Sodium -Cl—Chlorine.
Valence Electrons Valencs Electrons : Valence Electrons " Valence Electrons "
Total Eiectrons Total Eiectrons Total Electrons - Total Electrons
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t. -How many electrons does each element have availabie: to_produce a-bond?
Sodivm E - Chiorine

2. Which element has lost electron(s)? ; -

3. The element that has lost an electron is now considered a(n) : .. ion. WHY?

Which element has gained-electron(s)? . S ) R G e
The element that has gained an electron is now considered a(n) ion. WHY?

-

What type of bond has been formediin-the picture above?

= bond below creates NH; which is Ammonia.
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Fiow many valencs electrons are availabie in one atom of sach eiement above?
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L Why dess it take 3 hvdrogen to bond with one nitrogen? ” o Dheall Hgaeime - e
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